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Fourth Semester B.A./B.Sc. Degree Examination, July 2024
First Degree Programme under CBCSS
Language Course - English
EN 1411.1/EN 1411.3 : READINGS IN LITERATURE
(Common for CBCSS B.A./B.Sc. & Career Related 2(a) Courses)
(2019 Admission Onwards)

Time : 3 Hours ' | Max. Marks : 80 |

I.  Answer all questions, each in a word or sentence.

1. What is the question the poet asks the labourers of England?

2. List the main themes of “The Gift Outright".

3. Whatis the central theme of “Telephone Conversation™?

4.  What is the meaning of the word ‘interior’ in Atwood's poem?

5. What does the sound of the flute signify in “House of a Thousand Doors"?
6. Why is the colour yellow associated with the Indian bride?

7.  Theme of “The Exercise Book”.

8. How did the narrator understand that his liver was out of order?

9. What does “You are Under Surveillance” talk about?

10. Who was Kochuraman in “The Power of Faith”?
(10 x 1 = 10 Marks)
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

Answer any eight, each in a short paragraph not exceeding 50 words.

What are the things the poor labourers do not get although they work very hard?.
What helped Frost estabii.sh his reputation as a truly national poet?

The protagonists of “Telephone Conversation”.

What does ‘The House of a Thousand Doors’ symbolize?

Comment on card in the poem “Identity Card”.

What did the white men do to the aboriginéis according to Oodgeroo Noonuccal?
What does “Agony” depict? -

The sad féte of Uma in “The Exercise Book”.

The attitude of Krishnan’s daughter to her grandmother.

The character of Lomov.

What effect did John Kurian’s notice about the surveillance camera have on his
daughter Sini?

What is Arundhati Roy's first comment on nuclear weapons?
(8 x 2 =16 Marks)

Answer any six, each in a paragraph not exceeding 100 words.
What does Frost's “The Gift Outright” convey?

Write a note on the aesthetics of "I cannot help blossoming”.
How does Atwood describe her journey to the interior?

How does the poem “We are Going” end?

Why did Krishnan refuse to help his sister when she was ill?
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28.

29.

30.

31.

32.

33.

34,

35.

The disease of the protagonist in “The Man Who was a Hbspital”.

What was peculiar in the character of Natalya Stepanovna?

‘What does Malcolm X say about Marcus Garvey?

‘What is Arundhati Roy’s opinion about the common people of India?

(6 x 4 = 24 Marks)

- Answer any two, each in about 300 words.

What is Shelley’s exhortation to the men of Englahd?
“The Exercise Book” as the story of the sad predicament of the Indian girl child.

Chekhov’s use of humour and exaggeration in “A Marriage Proposal’.

What does Arundhati Roy say about India’s last nuclear test?
- (2 x 15 = 30 Marks)
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- Fourth Semester B.Sc. Degree Examination, July 2024
- First Degree Programme under CBCSS
Statistics
Complementary Course for Psychology
ST 1431.5 : STATISTICAL METHODS FOR PSYCHOLOGY - IV
(2022 Admission)

Time : 3 Hours Max. Marks.: 80
SECTION - A

Answer all questions. Each queétion carries 1 marks.
1. Whatis é parameter?

2. Define a Chi-square statistic.

3. Discuss Statistical estimation.

4.  What is called confidence coefficient?

5. Define a null hypothesis.

6. Whatis power of a test?

7. Define a large sample test.

8.  Write the test statistic for testing the specified population proportion.

P.T.O.



9.

10.

Define the Median test.

What do you mean by non—parametric tests?

(10 x 1 = 10 Marks)
SECTION - B

Answer any eight questions. Each question carries 2 marks.

11,
12.
13
| 14,
15.
16.
17.
18.

19.

20.

21.

—

22.

What is sampling distribution? Give an example.

Define an F statistic. What are the uses of it?

Explain interval estimation.

Distinguish between simple and composite hypothesis.

Define the two types of errors in testing of hypothesis.

Define standard error and exp!ain its usefulness in large sample tests.
Mention the steps in a statistical test procedure.

How can you decide whether a test is one-tailed or two;tailed?

What are the assumption in a »* test?.

Give the test for the mean of a population where the population S.D is unknown
and the sample size is less than 30.

Explain a test for randomness.

How can you perform an ordinary sign test?

(8 x 2 = 16 Marks)
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SECTION -~ C

Answer any six questions. Each question carries 4 marks.

23.

24,
25.

26.

27.

28.

29.
30.

31.

What is the distribution of the sample mean while sampling from a Normal
population?

Derive the confidence interval for the variance of a Normal population.

A random sample of size 17 from a Normal population is found to havex = 4.7,
s* =5.76 . Find a 90% confidence interval for the population mean.

Explain the test for the testing H, : 2 = », Vi H, 1z = 1, when the specified value
1, <u, and o is known.

Test whether the following figures provide the evidence of the effectiveness on
inoculation.

Attacked Not attacked Total

Inoculated 120 80 200
Not Inoculated 180 420 600
Total 300 500 800

Two samples of sizes 6 and 5 respectively gave the following data:

Mean of the first sample = 40, S.D of the first sample = 8, mean of the second
sample = 50, S.D of the second sample = 10. Test the equality of means of the
populations at 5% level?

Describe the paired t test, mentioning the assumptions involved.

How do you perform the Mc-.Nemer test?

Explain the Wald-Wolfowitz run test.
(6 x 4 = 24 Marks)

'SECTION - D

Answer any two questions. Each question carries 15 marks.

32.

(a) Give the procedure for testing the equality of means of two normal
populations when the population variances are known.

(b) A sample of 100 students is taken with heights having a S.D of 10 cm. The
mean height of the sample was found to be 168.8 cm. Can we accept the
assumption that the mean height of the students is 170 cms?
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33.

34.

35.

(@)

(a)
(b)

()

Explain the need of computing the coefficient of contingency. How it is
computed?

- Write the procedure for carrying out a chi-square test of goodness-of-fit.

Give the procedure of testing significance of proportion. 10
Define sign test. Explain its importance. . 5.

Explain the Wil'coxon Signed Rank test and show that the statistic is

symmetric about ”—(H—Jri)

A public school official felt that high school sections of a large school system

- would tend to score higher on a standard reading examination than the

national median of 50. He randomly select 13 students and gave them the
test. The results are as follows: 57, 70, 42, 48, 72, 63, 45, 66, 59, 39, 73, 78,
47. Is his feeling correct. Use Wilcoxon's signed rank test. (From tables with
n=13,a = .01 table value C = 13). '

(2 x 15 = 30 Marks)
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Fourth Semester B.Sc. Degree Examination, July 2024
First Degree Programme under CBCSS
Zoology
Complementary Course for Psychology
Z0 1431.2 : PHYSIOLOGY OF EMOTION AND COGNITION
(2019 Admission Onwards)

Time.: 3 Hours ' ‘ Max. Marks : 80
| SECTION-A

l. Answer all the questions. Each ﬁuestion carries 1 mark.

1. Limbic system

2. Adrenalin

3. Reflex

4. Habituation

5. Spinal memory

6. Hebb synapse

7. Semantic memory

P.T.O.



10.

11.

2.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

Engram

Name the types of theories on emotion

Cognition

(10 x 1 =10 Marks)

SECTION -B

Answer any eight questions. Short answer (Not to exc'eed one paragraph).

Each question caries 2 marks.

Expiain the hormonal mechanism of aggression.
Differentiate between eustress and distress.
What do you mean by attitude learning?

Mention the contribution of Pavolv in ‘Iearﬁing experiments.
Add a note on Lashley's work on learning.

Write a note on cortical areas of memory storage.
Explain sensitization and habituation.

Mention the stress related disorders.

Role of hippocampus in memory formation.
Explain law of equipotentiality.

Explain LTP.

Comment on cingulated cortex.

(8 x 2 = 16 Marks)
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33

34.

35.

SECTION —C

Answer any six questions. Each question carries 4 marks. Short Essay
(Not to exceed 120 words)

Explain the hemispheric lateralization and emotion.

Write an account on contributions of Kohler and Skinner.

Comment on Korsakoff's syndrome.

Differentiate between short-and long-term memory.

Explain synaptic basis of learning.

Give an account of the application of polygraph.

Explain the role of hippocampus in memory consolidation.
Explain the cellular changes associated with memory formation.

Write an account on copying mechanism.
' (6 x 4 = 24 Marks)

SECTION-D

Answer any two questions. Each question carries 15 marks. Long Essay
Write an essay on the theories of emotion.

Write an essay on types of memory.

Define learning. Explain different types of learning.

What is stress? Explain physiological and psychological aspects of stress.
(2 x 15 = 30 Marks)
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Fourth Semester B.A./B.Sc. Degree Examination, July 2024
First Degree Programme under CBCSS
Language Course : Additional Language — Hindi

HN 1411.1 — HINDI : KAVITA EVAM EKANKI
(2020 Admission onwards)
Time : 3 Hours. Max. Marks : 80
. @ @ el | I foflau -
1. 91 i e T Hiad & Wi #5927

2. BYEE % GEHEAR B B3 82
3. o & fean wym 7

4. TERY R Tl (5T UHih! & TH &7

5. HIGW i JEThI H1 AR B H = E 0

6. wWRA AT F AT FM A7

7. THGARAEEE % TEHE #H § 7

8. Tug® i A feg 1 off?

9. BI gBe 98 uel TS TRih! H Wi wHE 2 7
10. ‘= gd & N9 @ = e FfE & e 20

(10 x 1 = 10 Marks)
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27, 18w % A% ey 3 s % aww & - 38 U w1 G Hifwg
28. ‘g i 61wl w1 27

29. ‘g1 ud &1 4 B, U g AhmE|
qoreht g 7 oife s ehn are 4 oy - awEn S S

30. wafeEh e & ofea
31, el SR o g e e SR % oA & A ey E7
| (6 x 4 = 24 Marks)
IV. Tl @ vl % I sle 250 vl fafam)
32, B v ad Hoel T R § TR Fa e T e 37 s B

33. wetew e wifeca & mem wfa @ 2f sfew 52 oo gy o & - wga FA F @
Hifu)

34, ‘Il i WA THS Tehich! 1 GO fT@H 39T =7 H)
35. frar am=s wiaa w1 gy ast 356 mdfian Hif)

(2 x 15 = 30 Marks)
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Fourth Semester B.Sc. Degree Examination, July 2024
First Degree Programme under CBCSS
Psychology
Core Course
PG 1441 : SOCIAL BEHAVIOUR
(2020 Admission Onwards)

Time : 3 Hours Max. Marks : 80
I.  Answer all questions. Each carries 1 mark.

1. Lasting evaluations of the various aspects of the sacial world is

2. The factor in an experiment that is systematically varied by the researcher is

3 is the extent to which an individual responds in the same manner to
different stimuli or different occasion. '

4. The theory of cognitive dissonance was proposed by

5. Beliefs that all members of specific groups share certain traits or characteristics.

6. Sexism

7.  Micro expression

P.T.O.



11,
12.
13.
14,
15.
16.
17.
18.
19.
20.
21,

22.

Social perception

Consistency

Attribution

Answer any eight questions. Each carries 2 marks.

Starihg

Experimentation

Classical conditioning
Attitude Accessibility

Gender identity

Priming

Trivialization

Fundam.ental attribution error
Schemas

Affect

lllusion of out group homogenity

Prototype

(10 x 1 = 10 Marks)

(8 x 2 = 16 Marks)
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

Answer any six questions. Each carries 4 marks.
Explain different types of non verbal communication.
Describe discrimination.
Explain impression formation.
Gender stereotypes
Formation of attitude.
Methods of social psychology
History of social psychology
Heuristics in social cognition
Describe stereotypes.
(6 x 4 = 24 Marks)
Answer any two questions of the following. Each carries 15 marks.
What is persuasion? Elaborate different approaches to persuasion.
What is attribution? Explain different theories of attribution.
What is social cognition? Describe potential sources of error in social cognition.

Define prejudice and stereotype. Briefly explain techniques to reduce prejudice.
(2 x 15 = 30 Marks)
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Fourth Semester B.A./B.Sc. Degree Examination_, July 2024.
First Degree Prograhme under CBCSS
Language Course — Additionalr Language — Malayalam
ML 1411.1 : GéObAcﬁ:élO(TDOQIﬂ@éo
(2021 Admis#ion Onwards)
Time : 3 Hours | ' | Max. Marks : 80
L ey anedlean ade:)omiead Sameaae@)d:.
1. EndgWody@ilentd agmMal@ea]sim (G@soés)mcsgs)@oooeé ?
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4. | ‘BOMOOMO0H0" RO YOS LPELOMEDIENT ? NMABRE®ICT BRE ?
5. asowd eead afleonarsiod Q@o%sg(m Byl ?
6. e ag) R eR®OT ‘? el Jm(ﬂ@m’leggg (10WOMIDDT) ?

7. oeogeias @pay quimiadldalGlagosm mosSaso.
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